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'ii, ·;:;'·"i')l.~f~p'¢f(Jll;tMeynlLfY Ha MOj 11360p npl1 KynoBI1HI1~::l'l,~~?~~~":'";."; :

~2»Ot:naurnBaLfI1 I1Majy CJl060AY 113pa)l(aBal-ba

.ll:A = 104 (33,9%) HE = 202 (66%)

.ll:A = 54 (17,6%) HE = 252 (82,3%)

3.- OrJIaUHfBaLfJ1Mopajy 6l1TI1<pepl .ll:A = 188 (61,4%) HE = 118 (38,5%)
-' ' ,~~. '", ..nOUI'r:etll1 npeMa nOTpOWaLfI1Ma

,>4.~PelOlaMaje Ao6ap 113BOPI1H<p0pMal.l,l1ja .ll:A = 108 (35,2%) HE =198 (64,7%)

.' • ,3"¢g. ..jiIIoTP.e6Ho je BI1AeTI1peKJlaMY Kao YMeTHI1LfKY<P0PMY .ll:A = 34 (11,1 %) HE = 272 (88,8%)
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3. )l;EKJIAP AI.J;HJA
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~~1·...:IT6.n.aiJ,M CaAP)l(aHI1 Ha AeKJlapal.l,l1jl1cy nomYHO TaLfHI1 .ll:A = 18 (05,8%) HE = 288 (94,1 %)
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")"~~.,~ npe KynO:BI1Heo6aBe3Ho npOLfI1TaMAeKJlapal.l,l1jy
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. •;p;;,,Il~al.l,l1ja np0l13BOAa MI1je CaCBI1MjacHa
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5.- 03HaKa" Codex Alimentarius" Ha AeKJlapal.l,l1jl1
' •. ' 03HaLfaBa reHeTCKH MOAI1<pI1KOBaHYxpaHY
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4. EE3EEAHOCT IIPOH3BO)l;A

~ l.-Jlo1'pomaLfI1 cy npeBI1We 3aXTeBHl1. '
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"; .•.. -.:;aaXTeBH6e36eAHOCTI1 cy CYBl1we pl1rOp03Hl1

.ll:A = 172 (56,2%) HE = 134 (43,7%)

.ll:A = 42 (13,7%) HE = 264 (86,2%)

.ll:A = 88 (28,7%) HE = 218 (71,2%)

.ll:A = 42 (13,7%) HE = 264 (86,2%)

.ll:A = 168 (54,9%) HE = 138 (45%)

.ll:A = 20 (06,5%) HE = 286 (93,4%)

.ll:A = 20 (06,5%) HE = 286 (93,4%)

'. 3.-np9A~iUI cy JbYAI1,TaKolje, I1I1Majy npaBo Ha rpewKY .ll:A =104 (33,9%) HE = 202 (66,%)

4.- OCJl~H)aM ce Ha 113jaBe npOAaBl.I,a .ll:A = 98 (32,%) HE = 208 (67,9%)
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1.- Tpli.f,[JaBHa acneKTa cy:
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eKOHO'Mflja, 3ApaBJbe 11)KI1BOTHaCpeAI1Ha

:2>EKOHOMCKYOAP)l(I1BOCTLfI1He:
..... ,j,~~. \pa3YMHa Ao6I1T, <pep 3apa.n.e 11ApYWTBeHe YCJlyre:.$r:',~~,.., . ~.".
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.ll:A = 114 (37,2%) HE = 192 (62,7%)

.ll:A = 206 (67,3%) HE = 100 (32,6%)

.ll:A = 112 (36,6%) HE = 194 (63,3%)


